COLLEGE ALGEBRA EXAM 1 GG R? NAME

SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answvers.
TURN 1IN ALL WORKSHEETS. CALCULATORS ARE REQUIRED ON THIS TEST.
EXPLAIN ALL CALCULATOR STRATEGIES AND DRAW GRAPHS WHEN USEDI!

In 1 - 3, factor completely and simplify if possible:

1. a®- 2a’b - 25ab® + 50b° 2. (2X-Y)% - 3(2X-Y) - 10

In 4 - 7, use the calculator to evaluate:

Give scientific notation, or
round to nearest hundredth.

72,000 - 0.0063 b) 6.3 X 10
0.035 - 81 8.1 X 10"

4 a)

. Give the calculator values (nearest hundredth)!!

\ 5a) 7,000,000 py JTV30 <4617 ) (1735 . 46/7F)

13/2 - 7,/7

.

ff

:\ 6a) 12523 b) 49732 (Give fractional form!)
“E Give answers in the form of “a + bi”:
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g Ta) (t + 1)3 by its <) M

. 5+ 9i




X+2 X
X2 -6X+8 X*-4

8. Simplify the fraction:

-2 _ y-2
9. Simplify: ..)f___...,_.!___
X -y

In 10 - 12, simplify the radicals (rationalize denominators):

10a) {72X°Y" 11a) 35 - /77 12, 20
3/6 -2

b) Y16 + yB4 h);;!-3
4

In 13 - 18, solve for X. Calculator methods MAY be appropriate:

13. p=_%XY 4. X +1-yX=3

a+ bX
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